S = 1 ;ff%"fz—;‘"—-
2 T _4l 2 -2 HAle*]e -

4y ) Al ZH g &p} 6&*_FC{:>}: FCS"‘&‘D
IIstl-% £jenel
5& smbtf= nb
2 [ gW]- ~55F
90 b 7 _ g3 % wpeee F()- Z 1]
L gy )= e
3 b
Ltett]= o5 " e -
F"/’j_‘-_l - ' L —Q)ts th
j 33545-*33 ;Df f(:wz)’ﬂlj = xe em
5 A |
= 2 5l = . S
Zi 2{9/ 2't_j 627+ 4 2 (523



z ol J-H -«;2’
SrZS-r) -
CSH) 6»1 = e st
—
b jé‘twsf(} d Sl
Balahat ST =
] 2l ) o — 3
- = /jé+z)+8/g)7
SH4er )R _J Cj C5+1)+ "? g,—%zs*{i yélts#z)ﬁbe
=l [2=4
sy com 2=h S

....

54-2)‘4-‘:1 ) e
2L g }""f ezie]

= D g%cosdt #4753t

= j J 2seDrz ] ° '



=aFs

As -5
2 s=4s+)O

I ’_[_ | 35-—’5-
f 3‘5\70 5 »—254«5

- L j/‘(s% )+B”(2)j

(s=1)"+4

gg,.,g: ACS’“‘)-’*BCQ;)
5= —127 28— B=—0
coeF . A=A

OFS

e (58 cos 2T — (OJ&JCS“")@

= 3
2-

ebcos DE— 2 smOt |

Z"]

: | = 2R .‘,Bz ";._*L_ MANYOH ;( W, ,/ S P TY (\HI(’J/
i

e RE A e s
€

= Swhit
= Alg1)+B(s+D bl s e

CLALS

— -"2A-._.g A.;: """21: (\’ = ) a1 = J'X e / e J. 4=
Kot O, | on = Zl+3

PNITHING Py Ry USED A L



i"' 5 s*2bs 47 z < o BE - b

(s-D s+ 2575 = X 5 TR I ey

= —Het —e? et

st Dbs-47= A (s+2)(s+5) +B (s~ D050+ c (s—1Xs32)
So ) |—2b-47= AD(E) = -T2 A=A
<=2 4rE2-4T] =REB) = q— 8="|
(=5 25+BO47= el = 108— &7 =

STV CHETK-
A+78-47 _ 40 _ —

T8

e I B



